
1) Divide the following fractions by integers. 
 

a) 
3

4
 ÷ 3 =  b) 

6

7
 ÷ 6 =  c) 

10

11
 ÷ 2 =  

d) 
12

17
 ÷ 4 =  e) 

15

21
 ÷ 5 =  f) 1

1

5
 ÷ 3 =  

1

5
 + 

3

10
 = 

 

2) Fill in the missing divisor. 
 

a) 
4

5
 ÷ ? = 

1

5
 b) 

12

13
 ÷ ? = 

3

13
 c) 

3

5
 ÷ ? = 

2

10
 

 

3) Solve the following problems. 
 

a) Joel has 
3

4
 litre of juice.  

 

He divides it equally between five glasses 
 

What fraction of a litre is in each glass?  

b) Sofia is running a half-marathon. 
 

She is 
1

3
 of the way through the way.  

 

What fraction of a full marathon has she completed? 
 

4) Fill in the missing number. 
 

A B 

  
 

5) Bhaaloo says: “
8

9
 ÷ 3 is equal to 

8

9
 x 

1

3
”. 

 
Is he correct? 
Explain your reasoning. 

 

 

 

  


